_j(ing ja/w[ Unil/erdity o/ p etroéum am[ mineraé

Electrical Engineering Department

E.E 204: Fundamentals of Flectric Circuits

Tnstructor: %W/Zﬂdf Due date: /@@, 2007

Design Project (O62)

Knowing that a device operates with 208|0_° V (rms) at 60 Hz and that it absorbs

8kW of power at 0.7 lagging power factor, find:

. the capacitor that must be connected in parallel with the device in order to
make the power factor of the source equal to 0.95 lagging.
. the impedance of the device.

. the complex power of the source.

. the apparent power of the source.

. the real power of the source.

. the reactive power of the source.




